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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVl ETcl’, 'setVI _fgRec', 'setVI VN, ’slSetVI’
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0
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P3-6

BrE | GEBAK @) | ERE(EA/H | BEBREREB/R) | XS R

07:05 273 150.0 2.583 |Z=| FHRe07:05 KREHIEF (KREERSE)
07:40 273 150.0 2.583 |Z=| FHAe07:40 KHIEF (KEERSE)
08:15 273 150.0 2.583 = FMHB@08: 15 KENFEHF (RAMREEE)
08:50 273 150.0 2.583 5| FEAe08:50 KENFEFE (RAfEEE)
09:40 273 150.0 2.583 |Z=| FHA@09:40 KRHFEF (KEAMERSE)
10:20 273 150.0 2.583 (Z=| FhHA@10:20 kENFEF CRAfREER)
11:00 273 150.0 2.583 BH| FhHAe@11:00 KEF2F (RAEREE)
11:35 273 150.0 2.583 BA| FhfAe11:35 REERF CRAGRS)
12:10 273 150.0 2.583 FR{ FhHR@12:10 RHMIEF CRALESR)
12:45 273 150.0 2.583 BH| FhHAe@12:45 KEIEF (REAHEREE)
13:20 273 150.0 2.583 BA| ThHRe13:20 KREiEF CRAKES)
13:55 273 150.0 2.583 FH| FhHfe13:55 RFIEF (KRAERSE)
14:30 273 150.0 2.583 FH| FnHf@14:30 KRFIEF CGRAERS)
15:05 273 150.0 2.583 [/If| FiHAe15:05 KREIEF CGREERSE)
15:45 273 150.0 2.583 |/\FI| FnHRe15:45 KHEFE CGREAERSE)
16:30 273 150.0 2.583 |/\F| FnHR@16:30 REIEF (KREERE)
17:30 273 150.0 2.583 |/\FI| FiHR@17:30 KREIEF (RAEREE)
2it] 4641.0 (170%) 2550. 0 3 HIKEC: 2200, PH: 5.8

BEREWN S RFEEPH 5.77, BTN A IFEIAIEPH, EFshiFE
#HEKECE (1727.0 vs 5857.0) 15

RRAE IS REREC 2200.0




ET (ml/hr/plant)

P3-6_0, Day=77 (2025-06-14)

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET

13
1200 9843

72

1924

00 00

- 2000

- 1500

- 1000

=1 T
o (=] a1
S h S
[ee] o o

- 0.4

-0.2

optEC0=3500. 0, setECB=2200

0.0

optPH0=6. 5, setPHB=5.8

400

200

1
ByWon:@D77 01:52: ET=1924 Fg=2550.0 Ro=513.0

1.0

- 3000

- 2000

- 1000

o
—_
N
w
N
(S}
=2}
~
o0}
©

10 11 12 13 14 18 19

20

21

22 23

0.8 -

AN [ /NE | N | AR | R

™
T,

x| B [ BA | BB | FA

T

T

P P

0.6 1

0.4+

0.2~

0.0

800 A

600

400 ~

200 -

A A WarRing: "PPFD_obs’] is missing

25 -

20 A

15 4

"To obs" | is missing

80 A

70

60 -

50 A

"RHo_obs’] is missing

Warning: lcol ['RH_obs’,

RH

0.2 0.4 0.6 0.8

1.

0

FRV (ml plant-1)

FRV (ml d-1)

cumET (ml/plant)



hour

—_ =
N O

© © 00 N o O O O o o

155
:50
13:
115
:50
:00

100

15 - 80

- 60

- 40

35 20




P3-6

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS R

05:40 273 150.0 2.583 FA| 1B2i%@05:40 B3zh (RAB{ERSE)
06:30 273 150.0 2.583 |Z=| {Ri&%e06:30 Bz (KREEZEHE)
07:20 273 150.0 2.583 |Z=| {Ri%e07:20 B (REEZHE)
08:10 273 150.0 2.583 |Z=| {Ri%e08:10 Bz (KREAEZEHE)
09:00 273 150. 0 2.583 (£=| {Ri%@09:00 Bz (KRRAEDSE)
09:50 273 150.0 2.583 (£ =| {Ri%@09:50 Bz (KRAERSE)
10:55 273 150. 0 2.583 FA| 1B2i%@10:55 Bzh (kAIEREE)
12:50 273 150.0 2.583 FA| 1BRi%@12:50 B3h (RABERESE)
13:35 273 150.0 2.583 FA| 1BRi%@13:35 B3h (KRAERSE)
14:15 273 150. 0 2.583 FR| 1BRi%@14:15 Bzh (kAEREE)
14:50 273 150.0 2.583 FA| 1BRi%@14:50 B3h (RABIERSE)
16:00 273 150.0 2.583 FA| 1BRi%@16:00 B3h (KRAERESE)
24t 3276.0 (12)%) 1800. 0 ZHIKEC: 2200, PH: 5.9

large discrepency for begining water status (534:135.0), set to 534 ml.
IRBIE NS Rt i&PH 5. 93
HE[EKECE (1760.0 vs 6403.0) i35
RREVE S REIREC 2200. 0




ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=76 (2025-06-13)
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P3-6

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

05:30 283 150.0 2.583 FH| 1RRi%@05:30 B (FRFAERESE)
06:30 283 150. 0 2.583 FA| 1BRi%@06:30 BH3zh (FKA{EREE)
07:30 283 150. 0 2.583 FE| 1Ri%@07:30 Bzl (RAERESE)
09:05 283 150.0 2.583 FH| 1RRi%@09:05 B (FRFAERESE)
11:30 283 150. 0 2.583 |Z=| {Ri&e11:30 Bz (REERSE)
13:15 283 150.0 2.583 FA| {Ri%@13:15 Bz (GGRAEEE)
13:50 283 150.0 2. 583 PH| 1{Ri%@13:50 B (RAHEEKS)
14:25 283 150.0 2.583 FE| 1BRige@14:25 Bzh (GRAEREE)
15:10 283 150.0 2.583 | =| {Ri&e15:10 Bz (REEZEBE)
15:55 283 150.0 2.583 |Z=| {Ri&e15:55 Bz (REEZEHE)
17:25 283 150.0 2.583 |Z=| {Ri&e17:25 B (REEZEBE)
23t 3113.0 (11%) 1650. 0 3 IHKEC: 2200, PH: 6.0

HEBY 3RS R FHKPH 6. 005
#[EKECE (1803.0 vs 5847.0) 35
HRENE Y S R IKEC 2200. 0




P3-6_0, Day=75 (2025-06-12)
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Warning: lcol ['ECB’,| 'ECC’'] missing
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P3-6

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:50 283 150. 0 2.583 F|  {Ri1%006:50 Bzh (RF{ESE
07:25 283 150.0 2.583 F BRige07:25 Bz (GREERSE)
08:35 283 150.0 2.583 5| {Rig@08:35 B (KRAMERSE)
09:25 283 150. 0 2.583 E BRi&e09:25 BE1 (RAERERE)
10:10 283 150.0 2.583 F[ BRige10:10 Bz CGRAERE)
10:50 283 150.0 2.583 =l {Ri%@10:50 B3 (RAERSE)
11:25 283 150. 0 2.583 E BRige11:25 Bz CGRAERESE)
12:00 283 150. 0 2.583 E| {Rige@12:00 B3h (RE{EREE)
12:30 283 150.0 2.583 = {Rig012:30 B3 (RAERSE)
13:00 283 150. 0 2.583 E BRige13:00 Bz (GRAERESE)
13:30 283 150.0 2.583 5| {Ri%e13:30 B3 (RAERSE)
14:00 283 150.0 2.583 =l RRiB014:00 B (RFAEESE)
14:30 283 150. 0 2.583 E BRige14:30 Bz CGRAERESE)
15:00 283 150.0 2.583 5| {Ri%e15:00 B3 (RAERSE)
15:35 283 150.0 2.583 = RRiBe15:35 B (RFAEESE)
16:15 283 150.0 2.583 = RRiBe16:15 Bz (REAKEE)
17:00 283 150. 0 2.583 El BRi&e17:00 Bz CGRAEREE)
2it] 4811.0 (170%) 2550. 0 EWGHIKEC: 2200, PH: 6.0

FREVE NS K it i%PH 6. 005
#H[ERECE (1847.0 vs 5253.0) 35
FRBVIE NS R IFIREC 2200. 0




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

"MW ]

[ME,

P3-6_0, Day=74 (2025-06-11)

T ey g g g S S B S g g
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60 Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing
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optEC0=3286. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-6

BrE) | GEBAK (3 | ERE(EH/AR) | EREE (G/R) [ XS R

06:45 283 150. 0 2.583 5 BRi&@06:45 Bz (RFA{EREIEE
07:20 283 150.0 2.583 5 i18@07:20 B3h (KRFEERSE)
07:55 283 150.0 2.583 5 Bri%@07:55 Bzh (REERESE)
08:30 283 150. 0 2.583 5 ’Ri%@08:30 Bz (kAMERESE)
09:05 283 150.0 2.583 5 B318@09:05 B3zh (KRFBERSE)
10:00 283 150.0 2.583 i B2i%@10:00 Bzh (KREERESE)
10:50 283 150. 0 2.583 & ’Ri%@10:50 Bzh (RAERESE)
11:30 283 150.0 2.583 & Bi&e11:30 Bah (KRBERKSE)
12:10 283 150.0 2.583 5 BRig@12:10 Bzh (RBERESE)
12:45 283 150. 0 2.583 & Ri%e12:45 Bz (GRAERSE)
13:15 283 150. 0 2.583 & ]Ri%e13:15 Bz (RAERSE)
13:45 283 150.0 2.583 5 Bi%@13:45 Bah (kAHEREE)
14:20 283 150. 0 2.583 = Ri%e14:20 Bzh (GRAERESE)
15:00 283 150.0 2.583 5 Bri%@15:00 Bzh (REERESE)
15:40 283 150. 0 2. 583 5 Bi%@15:40 B3h (kBHEREE)
16:25 283 150.0 2.583 & BRi%@16:25 Bzh (KREERESE)
17:20 283 150.0 2.583 B FiTe17:20 B3 CGRAEESE)
2it] 4811.0 (170%) 2550. 0 EWUHIKEC: 2200, PH: 6.0

large discrepency for begining water status (484:123.0), set to 484 ml.

FRAVE NS KFHZPH 6. 005
REE NS RFIKEC 2200. 0
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Warning: lcol ['PHB’,| 'PHC’'] missing
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